EDESUF—X iR BBREDAZT EBIVC |FREVNSLX|HERIVFIX
Ol21|-| 9| x|Of21| - [12] x Ol21] - [13][x|O|21| - | 16] x
EFDESUF—X Of21[ -] 9| x|Of21] - [17] x HEJVC x|16] - [21{O]O|21] - [11] x
_ N Ol15] -] 6[x -
x| o[ -[21]O Ol21] - [19[ x x[13] - [21]O O 22] - [20] x
wRm x| 9/-[21[O x[14] - [21]O hREUMSILA[ O] 21] - [16] x Of21[ - |15] x
- x [11] - [15]O x| 6] -[15]O -
x[12]| - [21]O] x [19] - [21] O x[16] - [21[O] x | 20] - [22] O
B-BIED2ZT| x[17] - |21]|O| O 21| - [14] X MEFMIVEYX] x [11] - [21[O] x [15] - [21]O
- Ol15] - [11] x - -

B/t 4 1 2 B/t 4 3 0
ok 4 5 5 ybsk 5 5 4
tyhE 100.00% 20.00% 40.00% tyhE 80.00% 60.00% 0.00%

b EIESL 1 3 2 b EIESL 1 2 3
BER 84 64 84 BER 94 83 62
BER 47 97 88 BER 67 87 85
BERE 37 -33 -4 BrRRE 27 -4 23

BERAZIEN 1 3 2 BERAZIEN 1 2 3
fioy=y v 1 3 2 fioy=y v 1 2 3

=BJVC fAAJIVC VFHMEIVC MR Venus Wing hsngve
Ol21[ -] 9] x| x[15] - [21]O x [16] - [21|O| O 21| - |17 x
=BJVC Ol2t| -] o[ x[Of21] - [16] x AN x [18] - [21] O] x[15] - [21[O
_ Ol = | 7| x - x| 8/ -[15]0
9[- [21]O x 15| - [21]O Ol21] - [16] x x[12] - [21]O
mAIvVe [x] 9] -[21]O x[13] - [21]O Venus Wing | O] 21] - [ 18] x x [10] - [21]O
Of21[ - [15] x[OJ21] - [15] x x |17 - [21]O[ O 21| - [12] x
VI HHEJIVC| x [16] - [21|O| O 21| - [ 13] x fsNYve |Of21] - |15 x|O|21| - [10] X
x| 71 -115]0 - Ol15[ -] 8/ x -

BiREtyb 4 0 3 BiREtyb 1 2 4
Rl 5 4 5 Rl 5 4 5
TyhE 80.00% 0.00% 60.00% tyhEg 20.00% 50.00% 80.00%

Y hEIBSL 1 3 2 Y hEIBSL 3 2 1
BER 93 46 86 BER 78 64 95
BER 62 84 79 o 95 76 66
BERRE 31 -38 7 BERRE -17 -12 29

BEREIEM 1 3 2 BEREIEM 3 2 1
A B 1 3 2 A B 3 2 1

+IUIUVIIR INHUVC fzOJve mZBVSS KEVLAL KMPa1=7

x[15] - [21]O[ x[ 8[ -[21[O Of21] - J15][ x[OJ21] - [16] x

£IUITUDIILR x[11] - |[21]Of x[18] - [21[O BZBVSS Ol21] - 16 x[O[21[ - [ 6] x

Ol 21] - [15] x x |12 - [21]O x[15] - [21]O Ol21] - [16] x

MHuve  [Of21] - [11] x x[13] - [21]O KEVLL2 [ x]16] - [21[O Ol21] -[13[ x
Ol21] - [ s[x|OJ21] - 12] x x[16] - [21]O| x|16] - [21]O

fzaJve [Of21] - |18/ x|Of21]| - |13|x K¥Pa=7 |[x]| 6] -[21|O|x[13]-]21|O

BRI 0 2 4 ERtybE 4 2 0
Ty 4 4 4 Ty 4 4 4
tyhE 0.00% 50.00% 100.00% tyhE 100.00% 50.00% 0.00%

v hEIBLL 3 2 1 v hEIBLL 1 2 3
BER 52 67 84 BER 84 73 51
BER 84 68 51 BER 53 71 84
BERE -32 -1 33 BERE 31 2 -33

BRAZIEL 3 2 1 BRAZIEL 1 2 3
A NEL 3 2 1 A NEL 1 2 3

tBAL—F-s5T | INFAIVC  |ERHAR—YLER RIFFONIS5T | WETFVIF oY mEJVC
x|19] - [21[Of x| 11| - [21]{O Ol21| - |16/ x|Of21] - [ 18] x
E8NL—FLHTT x |15/ - [21|O| x |11[ - | 21|O RHIONIST x|20[ - [22|]O|Of21| - [18] X
- - Ol15]-] 8[x -
OJ21] - [19] x x[11] - [21]O x[16] - [21]O Ol21] - [19[ x
INFBRJIVC [O]21] - |15| % x |16/ - [21]O #WHISv %oy [ O] 22] - [20] X Ol21] - 17| x
- - x| 8/ -[15|O -
Ofa21[ - [11[ x[O]21] - [11] x x[18] - [21[O] x [19] - [21] O
wmzt—yoErA[O]21] - [11] x[Of21] - [16] x miEove [ x[18[-[21]O] x[17]-[21[O

BRI 0 2 4 B/t 4 3 0
ks 4 4 4 tyh 5 5 4
tybE 0.00% 50.00% 100.00% tyhE 80.00% 60.00% 0.00%

b EIEEL 3 2 1 b EIEEL 1 2 3
BER 56 69 84 BER 98 88 72
BER 84 76 49 BER 82 92 84
BERE -28 -7 35 BrRRE 16 -4 -12

BERAZIEN 3 2 1 BERAZIEN 1 2 3
firoy=y 3 2 1 firoy=y 1 2 3




FimpzO BAJVC BBEIVC  |ors9oh)—2
Ola21] - 18] x[O[21] - [15] x[OJ21] - [ o] x
#FimcpzO Ol21[ - |11 x|O|21| - [12| x[O|21]| - [ 11| X
x |18 - [21]|O x [13] - [21|O| O 21| - [17] x
BAJIVC [x[11]-[21]O x [17] - [21]O| x| 16| - [21]|O
_ - Of15[ -] 7| %
x [15] - [21|O|O| 21| - |13 x Of21[ - [11]x
#Eguve [ x[12[-[21]O]O]21] - [17] x Ola1] - [11] x
x [ ol - [21]O[ x[17] - [21[O] x[11] - [21]O
kS Gaor)—Z[ x [11] - [21|O| Ol 21| - [16] x| x [11] - [21]O
- x| 71 -115/0 -

EEtIb 6 2 4 1
tyb$ 6 7 6 7
tyhE 100.00% 28.57% 66.67% 14.29%

bR 1 3 2 4
BER 126 111 111 87
BER 76 129 94 136
BERE 50 -18 17 -49

BERAZIEN 1 3 2 4
oy 1 3 2 4

=&JVC Y ANANTY Y= I745—X | SxRARS—IE
Ol21| - 13| x|Of21] - [18] x[O] 21| - [ 14 x
=&JVC Ola21] -] 8[x[O[21] - [14] x[OJ21] - [11] x
x[13] - [21]O x [14] - [21]O x| 18] - [21[O
MR x| 8] -[21]O x| 6] -[21]O]O21]-[19] x
_ - Ol15] - [12] x
x|18| - |21|O| O 21| - [ 14| x x[13| - 12110
JU—27745—X| x [14] - [21]O| Ol 21| - | 6] x x |18/ - [21{O
x |14 - [21[{O[O|21[ - [18][ x|Of21[ - [ 13| x
Sy Rpz—RE [ x [ 11] - [21]O] x [19] - [21] O] O] 21| - [ 18] x
- x|12| - [15|O -

BB 6 2 2 3
Rl 6 7 6 7
tyhE 100.00% 28.57% 33.33% 42.86%

tybEIEEL 1 4 3 2
#Biga 126 95 105 119
LR 78 136 104 127
BERE 48 -41 1 -8

BERREIER 1 4 2 3
firoy=y v 1 4 3 2




